* BOWEN UNIVERSITY, IWO NIGERIA
FACULTY OF SOCIAL AND MANAGEMENT SCIENCES
DEPARTMENT OF BANKING AND FINANCE
B.Sc. DEGREE PROGRAM
SECOND SEMESTER EXAMINATION, 2013/2014 SESSION

COURSE TITLE: INVESTMENT ANALYSIS AND PORTFOLIO MANAGEMENT

COURSE CODE: BFN 420 " TIME ALLOWED:: 2HRS 30MINS

IN.STRUCTIONS: ANSWER QUESTION ONE AND ANY OTHER THREE

1a. Write short notes on the followings:

(1) Methods of estimating Beta factor (ii) Assumptions of Markowitz Portfolio Theory

(iii)Alpha Factor (iv) Security Market Line  (v) Business Risk 5mks

b. Mention three non probability and two probability methods of treating risk and uncertainty

in investment analysis. 5mks

2 a. Explain five theorems of bond that you know. and justify your explanation with

relevant computation. (10mks)

b. Use the understated data to clearly illustrate and demonstrate the condition under which
Bond price in any market will be traded: i. At Par ii. At Discount. iii. At Premium

The following assumptions should be taken into consideration.

Coupon Rate -8%; Interest Rate -9%; Maturity Period -10 years;  Coupon is paid annually;
Interest Rate move up to 10%; and Interest Rate move down to 8%. Gmks
¢. Mention eight factors that affect the value of a bond. 4mks
3. a List six differences between forward and future contract. 6mks

b Define financial derivatives, state the function, users and charﬁcteristics of derivatives. 8mks

c. Explain Option and discuss the concept of ‘Honest mistake’ in risk hedging. 6mks



A Clearly defing investment and discuss four determinants of Investments, 5mks
b Wit shart note on Investment decislon and Investment financing. 4mks

¢, You are plven two securities in a single portfolio. Security Z and Y. The following data
I AL [

relating to the two securities

SECURITIES X Y
[xpected Return 10 15
Standard Deviatlon 14 27
Welpht 60% 40%
Correlation Co- efficient 0.25

You are require to calculate the expected return from the portfolio and also a combination of
securlty X and Y that will glve a minimum risk in the portfolio  6mks

(L HOLY LIFE AND HIEAVEN is considering a project that has the following future cash flows
Ycar () | 2 3
Cash flows (N) 400 300 200 100
I the estimated beta is 1.5 and the market return is 12% and the risk free rate is 6%
Caleulate the projeet cost of eapital and the NPV of the project Smks

5. ABSTAIN FROM YOUTHFUL LUST PLC is considering whether {o accept one of the major new
investment opportunitics, stock 1 and stock 11, cach stock will require an immediate outlay of
N20,000 and ABSTAIN FROM YOUTHFUL LUST PLC cxpects to have cnough available resources to
undertake one of them, The Directors of ABSTAIN FROM YOUTHFUL LUST PLC believes that returns
from existing activities and from the new project will depend on which of the three economic

environments prevailing during the coming year.

The estimated cash flow return from the coming years and the probabilitics of the three possible
environments are as follows; '



ENVIRONMENT - A B C

Probabilities of Environment 0.3 0.4 0.3
N N N
Return from Project I 12,500 12,500 9,500
Return from Project II - 10,000 11,750 13,000
Aggregate Return from existing Portfolio stock 90,000 120,000 130,000

The company has a current market value of N100, 000. The Directors of ABSTAIN FROM
YOUTHFUL LUST PLC believes that the risk of return per Naira or market value of their existing
activities is similar to those of the stock market as a whole, including their dependence on which
ever economic environment prevails. The current rate of interest on short dated Government
securities and on Bank deposit accounts is 10% annum.

REQUIRED

a(i) Prepare calculation which will allow you to make a proper recommendation for the
director of the company, sowing which of either of the two proposed stock should be accepted,
assuming a portfolio comprising 70% of stock I and 30% of stock [l and 6 Mks

(ii) A portfolio comprising of 0.09% for project 1 and 2 and 0.91% of project Z. 10 Mks

b.Write a brief report to the Directors of ABSTAIN FROM YOUTHFUL LUST PLC explaining the
principle you have used in arriving at your recommendation. 4 Mks

6a.SIN THE GATEWAY TO HELL PLC is considering an investment in a project that requires an investment
of N6000 with a projected after- tax cash inflow generated over the next three years as follow:

i1 11 111
Proh. . Cash flow Prob. Cash flow Prob. Cash flow
N N N
0.1 1000 0.2 1000 0.3 1000
0.3 2000 0.4 . 2000 ‘ 0.4 2000
0.2 3000 0.3 3000 0.1 3000
0.4 4000 0.1 4000 0.2 4000

Assume the probability distribution are independent and the after- tax risk free rate of return is 6%
Calculate:

a. The expected NPV of the project
b. The standard deviation of the expected NPV



c.  The probabllity that NPV wlll be zero or less(assume the probability distribution is normal and
continuous)

d. The probabllity that NPV will be greater than zero

e. The probabllity that NPV will be greater than the expected value 10 marks

6b. GENUINE REPENTANCE FROM SIN, THE HALLMARK OF REAL CHILD OF GOD PLC is considering

a project with the following cash Mows.

Year plant cost operating cost l cash revenue
N*000 N‘000 N’000
0 250 - s
1 - 120 220
2 - 125 240
3 - 135 275
4 - 140 290

The project cost of capital is 15%.
You are required to measure:

i The sensitivity of the project to changes in the level of expected operating cost and
revenue  8mks

il What is sensitivity analysis 2mks
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